Decimals
Exercise 3E




Answer :

(c) 0.00006 km
Gem=-—2m=0.06m

100

_ Do —
0.06 m = === km = 0.00006 km

~ 6 cm =0.00006 km

Q5

Answer:

(b) 0.07 kg
—__T0 __T
70 a =Tooo kg T kg
=0.07 kg
~70g=0.07 kg

Qo6

Answer:

(c) 5.006 kg

5kg6g=(5 x 1000)g+6g=5006g

_ 5006 _
= 308 kg = 5.006 kg

~5Kg6Q=>5006 kg
Q7
Answer :

{C) 2.005 km

2km5m=(2 % 1000)m+5m=

Q8

Answer :

(c) 0.307

Converting the given decimals into like decimals, we get:
1.007 and 0.700
Writing them in column form with the larger one at the top and subtracting, we get:

1.007
~0.700

0.307
Hence, the required number is 0.307.

Q9




Answer:

(b) .07

We have:
01-x=0.03
=x=01-003

Converting the given decimals into like decimals, we get:
0.10 and 0.03

Writing them in column form with the larger one at the top and subtracting, we get:

0.10
~0.03

0.07
~ X =007
Hence, the required number is 0.07.

Q10

Answer :

(c) .43

We have:

307+x=35

=x=35-307

Converting the given decimals into like decimals, we get:
3.07 and 3.50

Writing them in column form with the larger one at the top and subtractini

3.50
~3.07

Q11

Answer :

(c) 0.069
First, we

(b) 0.6

We have:

2 % 30 =60

~0.02 x 30 = 0.60 (2 places of decimal)
=06

Q13

Answer :

(b)0.2
First, we will multiply 25 by 8.
=25 x 8=200
Sum of decimal places in the given decimals =(2+1)=3
~ 025 x08=0200 I[3 places of decimal]
=02

Q14

Answer :

(c) .064

First, we will find the product 4 =< 4 x 4 =64

Sum of decimal places in the given decimals = (1+1+1)=3
~04x04x04=0064 (3 places of decimal)

0.43
~ X =043 & :
Hence, 0.43 should be added to 3.07 to get 3.5. \ &



Q15

Answer:
(b) .0011
First, we will find the product 11 x 1 x 1.
Sum of decimal places in the given decimals =(1+1+2)=4
211 % 01 x001=0.0011 (4 places of decimal)
Q16

Answer:

(a) 13

208 < 016 = 208 _ 208x100 _ 208 _ 49

016  0.16x100 16

Q17

Answer :

(b)0.17

Cp_ 102 102x100 102 17
102+6= =5 = “5im _ﬂxllll}_mﬂ_o'17

Q18

Answer:

(a)44.2

9094 « 0.7 = 3094 _ 30.04x100 _ 3094 _ 44 o

T 0.7x100 il

Q19

Answer:

(b) 2.1

273+13=

Q20

(a) 40.5

N — B9.1
89.1+22=2=
Q21

Answer :

(c) 0.025

First, we will multiply 5 by 5.

ie.5x5=25

Sum of decimal places in the given decimals = (1 +2) = 3
~0.5%0.05=0.025 (3 places of decimal)



